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One does not sell to a gentile - 9019 %10 PR

Overview

¥"2 maintains that one may not sell to a w"y "33, unless he can reach his
destination before naw. The X 3 later' states that w"a prohibited certain acts on
"y provided that if they were done on n2w there would be a nXvr 21°7. Our NBOIN
qualifies this rule.

mooIn anticipates a difficulty:
- VN 29N KY DAY *1NY 2y SNT 23 Yy N

Even though if he would do these on n2w, he would not be 2597 a nXwvn, so why
are they prohibited —

mooIn responds:
= NN )1 NON INIYIY 937 *Dr19a mava DY IN >9aNN 3999NY INNN 0PN Yon

Nevertheless since the 951 is 9»r% or doing work with his hands on naw;

something which a ®X=w> is forbidden n''s7%, in those cases -
- “5Mbwa 9507 DIVN SDH0Pa W91 NIUA BY 123 191

The 7229 decreed not to do them close to nightfall, as '@ explained because it

can be misconstrued that the *721 is his agent to do these actions -
= INDN 29913197 INY I 19T XY D792 NOIN NAYa AYIY IINY NYIIT D937 79Na DAN

However these prohibitions of the X2 (like 121 17w 1°X) where he is not doing
a 7o8» with his hands on naw, they did not decree any prohibition unless he is

2917 a DRWA if he did it on 2w -

1725 TYNY 1N PNT *RIYY 139519
And that it the reason why one does not give hide to be tanned, because the 21 is
doing something 0>7°2, which for a X is 7707 72 TOK.

! X,1 states, R? NAw32 % 102V ORT NAT O 737 N7 nMp YR oy w'y w372 171 DXL 20 Nawa 17 7Y ORT gkl
1913 KD NRLIT 20N,

2 oo (by writing 177 in the plural) is referring to 2127 X as well as to 121 7an PX. In all these cases if he would
sell something to a >33 on nN2w or he would give him hide to cure or clothes to wash, the X7 would not be 2*n
nRun, since he did not transgress a RN™MIRT 7IR77.

3 9nnn means driving a donkey (or other animal). This is referring to the case of 2™ X where the *721 will load
the merchandise on his donkey and drive it to his destination. 92 is 077 MOX (see later on 2,31p).

* This is referring to "2 ]723]5 MY 1101 PR where N17Y 712°Y or 732 012°3 is N7 MOR.

5 See 79 X9X 71"7 3,7 "w1.[ See however in our 7Iwn where X1 7"72 2" writes NW3A T W10 IRIIT.]

% One is prohibited from asking a 131 to work for the X on naw.

7 See ‘Thinking it over’.

¥ See footnote # 4.
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Summary
The qualification that w"a decreed only on m>ax?» for which one is Nawa nXvn 20

is in those cases where there is no actual work (like 121 1P 1PR), however when
the >121 is doing work 2>7°2 (like 121 10w PX) which is 70X for a DX W, there is no
such qualification.

Thinking it over
mooin is of the opinion that the cases of 1721 X and MY P12 PRI are a greater

naw 79 than the case of P PR and PIIR 1IN PR, because in the former cases the
™21 is doing a 2°7°2 798P which is n"in PXw°% MoX. However why do we not
consider the flip side; in the cases of W °X and 71X 1IN X, the 7198%% which is
happening on naw is caused exclusively by a X, while in the cases of 1721 PX
MY a3 1K), the X is doing nothing of the 7oX%7%. Why is one more naw 17°n
than the other?!
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